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Question Number : 1 Question Id : 3354726931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is the smallest district of Madhya Pradesh in terms of geographical area? | HNNiw® &7 &
o o Tgieriad # & @19 9T We Wl & Teid g12T T 57

Options:

1. ¢ Datia | g

2. % Jabalpur | S&EgY
3. % Morena | goAT

4 ® Indore | 22X

Question Number : 2 Question Id : 3354726932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How long is the coastline of India? | 9T &7 924 FRT FaT 77 57

Options:

1. % About 7,500 krm | & 7,500 T

2. % About 2,000 km | #ET 2,000 ft

= % About 10,000 km | @TET 10,000 TFAT

4 # pbout 15,000 km | FTT 15,000 At

Question Number : 3 Question Id : 3354726933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Kautilya was the chief adviser to: | ®eed ______ & W W

Options:

1. ¢ Chandra Gupta Maurya | =g TH @14
2 ® Ashoka | e

3. ® Harshavardhana | gyaee

4 % Chandra Guptal | =g A1

Question Number : 4 Question Id : 3354726934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Martyr's Day Mahatma Gandhi's Martyrdorm) is celebrated on o _______ of every vear. | a51g feam, (AR T HT
Treft T argTed) wedw e T TR AT 2]
Options:

1. % 30th January | 30 F=
2. % 20th January | 29 J
% % 1st January | 1 e
4. % 2nd January | 2 a0

Question Number : 5 Question Id : 3354726935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who E;%p%r;g the following is NOT an Arjuna Award winner in 20177 | FAAGRET # # ®19 2017 H afF [T

Options:
1. % Jyothi Surekha Vennarn | =2ifd GE&r &40
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2. % Harmanprest Kaur | 5TAAUE 1T
Z. ¥ Hardik Pandya | glie® g
4. % airckia Rajiv | SRITAT T

Question Number : 6 Question Id : 3354726936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Wwhich of the following is NOT a mermber of Cabinet Cormmittes on Security? |

TerafefET # & F17 Sar 7 hmeer & gear derdt afifs @ aera i g
Options:

1. ¢ Minister of Law & Justice | T 37 -1 g4

2 % Minister of Finance | {9 @4t

3. % Minister of Defence |TaT AET

4 % Minister of External &ffairs | o omat & g4t

Question Number : 7 Question Id : 3354726937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In total, how rmany coastal districts are there in India? | F Haewe, R | Trad dera e g7

Options:
1. % 78
2 % 98
3. ¥ 70
4 % 54

Question Number : 8 Question Id : 3354726938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The journalist Gowri Lankesh shot dead on 5th Septernber 2017 belonged to which state? | 5 e 2017 #1
THET ENT ATET T8 TR TIT alarar ToreT Ty & #elterg 217

Options:

1. ® Tarmil Nadu | T8 915

2 ¥ Karnataka | ®icd

2. ® Andhra Pradesh | o Ags
4. % Telangana | d@M=T

Question Number : 9 Question Id : 3354726939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who is the first Indian to win the 'Best Actor' award in an international film festival? | @@ hed reE |
AT SITETT T QR S STl I TR 1 i 27

Options:
1. ¥ Amitabh Bachhan | STHaT a5+
2. % Raj Kapoor | T #¢

3. % N.T. Rama Fao | ﬂrqaﬂi dTeel TTHI
4. ¥ Shivaji Ganesan | TEm=T mise

Question Number : 10 Question Id : 3354726940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

24th Dec 17 Shift 1



24th Dec 17 Shift 1

Correct: 1 Wrong: 0
The Pehsari Dam is located in .| UEETCr |y

Options:

1. # Bhopal | \iTe

2. ¥ Indore | 221

% ¥ Guralior | T ieET
4. % Ujjain | =

Question Number : 11 Question Id : 3354726941 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhich one of the fOllOwiﬂg places 15 in Morena, and 15 knowrl 10 have baeen the capital of Kushwahas? |

Trafeiad § & & | G g § 8, S gt & e & TR S T g
Options:
1. % Banmore | SHAT

2. ¥ Sihoniva | Wi

2 ® Khajuraho | @5Xg!
4. % Sabalgarh | e

Question Number : 12 Question Id : 3354726942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

g;riiigﬂ; :/1\1”50 ir]x?grguli is known for which of the following? | BTRIAT § el FeietEs 8§ & e B Sm7 TET 27
Options:

1. ® Gadhi old fort | T Qe T

2 ¥ Painted rock shelters | =IfEa ager amE

% % Dam | 9y

4 % Power house | fOg@ 18

Question Number : 13 Question Id : 3354726943. Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Where is Sabalgarh Fort and Garhi Surnavali situated? | Hawmig Tl o TET GHTde! Fel e 27

Options:

1. ¢ Morena | g

2. % Ashoknagar | STl
2 ® Gwalior | Tam o=

4. % Ujjain | =

Question Number : 14 Question Id : 3354726944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is Tawa Darm and Madhai reserved forest located? | T aTer 3T A AWIST o9 gl 97 57

Options:

1. ® Gualior | TaTwET

2. % Ujjain | 3=

=, ¥ Hoshangabad | glammars
4. % Ehind | ¥
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Question Number : 15 Question Id : 3354726945 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The historic Anand Nagri ‘Mandu’ is in district of ______ | U s AT S e o 8

Options:

1. % Dhar | 9%

= ® Indore | 2T
2 % Dewas [ 299

4 % Jhabua | ST

Question Number : 16 Question Id : 3354726946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With which dynasty is the Fort of Lanji in Ealaghat associated? | aTaATare H @l &1 HFaT [ Tray & Harid 57

Options:

1.4 Gond | miE

2. % Maurya | 71
Z. % Chandel | =2

4 % Kalchuri | Femeil

Question Number : 17 Question Id : 3354726947 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Indore is in the meeting place of rivers_____ g Al & daw H 8

Options:

1. ® Narmada and Tapti | FHaT o T
2. % Sindu and Shipra | & o famm

Z. % Shipra and Ken | T3mT &% &=

4. % Khan and Saraswati | G SiCeeas [

Question Number : 18 Question Id : 3354726948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Gandhi Sagar Sanctuary is located in the districts of ______ .| TITET | apEmr ___ F A e
Options:

1. % Mandsaur and Meernuch | BEET 3 S0

2. % Sheopur and Morena | FEFT T geam

Z. ® Rewa and Satna | &7 T 934

4 % Thabua and Ratlarmn | e 81T @@

Question Number : 19 Question Id : 3354726949 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The S1st district of Madhya Pradesh is _______ R e oS e L e o i

Options:

1. % Agar Malwa | ST HTcT
2 % Mandla | AZaT

% % Khargone | @
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4 % alirajpur | STHRET

Question Number : 20 Question Id : 3354726950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Where in Madh?ra Pradesh is Indira Gandhi National Tribal University located? | e[ 0 # givetr M T
AT FET T

Options:

1. % Katni | @l

2. % Bhopal | #UT&A

3 ® Rewma | ¥aT

4 ¥ Amarkantak | SEEE

Zeneral Maths and General Aptitude

Section Id : 335472209

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472209
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354726951 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In a rectangle, if the length is increased by 40% and breadth is decreased by 30%, then the area changes is

_______ | U T AT 40% T a3T & e A ST 20% O weT ST e a7 Ak ________ ufeafdd

Options:

1. ® increased by 5% | 5% Tha 9
2. % decreased by 5% [ S% @A H
3. ® increased by 2% | 2% g
4. ¥ decreased by 2% [ 2% FATH

Question Number : 22 Question Id : 3354726952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Marked price of a sweater was Rs. 1000. Shopkeeper gives a 20% discount. Again he gives a further discount
of 50% in the new price. What is the selling price of the sweater now? | T Toet F7 AT e 1000 F0=r am
ZFFEN 20 %fﬁgﬁ%m% AT B WY 9% 10 & S0% W1 g2 <aT 81 31 Toled 37 10w Iedl 47 27

Options:
1. % Rs 200 [ 200 ¥

= % Bs 400 | 400 =0
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I ® Rs 300 ) 200 T
4 ® Rs 900 [ 900 T

Question Number : 23 Question Id : 3354726953 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The remainder when 3x* — 24x® +48x? — 5x + 100 is divided by x — 4is _ /3x*—24x* +48x% -

Sx + 100 T x — 4 ¥ fanfaa :3= W 9T HEIT

Options:
1. % 100

2. ¥ 30
3. % 120
4. % -100

Question Number : 24 Question Id : 3354726954 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

1
J2-— =2
Nel
Options:
5
A3
1.9
12
e . -
5
2% .
5
4. % 3

Question Number : 25 Question Id : 3354726955 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The area of a square plot is 1024 sq.m. What is the length of its sides? | Uw @I qES BT 546 1024 ol #1531
T T T HeTS T 27

Options:
1. % 32m [ 320
Z % 31m | 316

3 ® oom | ozewr
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4 % 42m | 4207

Question Number : 26 Question Id : 3354726956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the average. | sfHa Faiem

33, 70,29, 40, 18
Options:
1.9 38
=z % 29
3 % 40
4. % 41

Question Number : 27 Question Id : 3354726957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The fraction F

_3gE08 £

67912

35808 hen reduced to the lowest form is: J FFaos v # eltlchd il G 3 F

¥
6759142

Options:

~ | 4=

WO | LA

Question Number : 28 Question Id : 3354726958 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If3x?+4x +2 =0, then 3x+ 2P isequal o _ /A 3x2+4x +2 =0, dl (3x+2¢ & e
Bl

Options:
1. % -6
> %
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3 ¥ -2
4 ® 2

Question Number : 29 Question Id : 3354726959 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Inn 8 hasketball garnes, Deepa scored 7, 4, 3, 6, 8, 3, 1 and S points. In her ninth game, she scored less than 10
points and the average for the nine games was an integer. Again in her tenth game, she scored less than 10
points and her average for the 10 games was also an integer. What is the product of the number of points she
scored in the ninth and tenth games? | § dEged1d Gl A, 47, 4 3, 6, 8 3 135 a0 | CICEEEE)
FE 10 a7Rt & FH g TR o T Gal @ e U oM g FEek g Wl H, FET 10 2fRT & w0 wiE Ty ofiv 10 Wat &
Tor affed ot 1er quTier oM IEer ERT Aid S Hd Wal H HTH SikT @1 H@ET ®T 0w 347 87

Options:
1. % 35
2. % 40
3% 48
4 % 5§

Question Number : 30 Question Id : 3354726960 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

RFam and Shyarm were born 24 years apart {assuming Fam is elder to Shyarm). Four years from now, the ratio
of their ages is 5:2. How old is Shyam now? | T0 T 5908 9 24 99 & a=g7 § F=0 o 2m (A & 7, Sam S as78) |
S | T Y W, I ST T SR = 5 2 81 ardT s o A et g7

Options:

1. % 24 years | 24 a9
2. ¥ 12 vears | 1299
3 % Byears | §a¥
4 % gwyears | 6 ad

Question Number : 31 Question Id : 3354726961 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Eamala tells Vimala a number whose product of the digits is 24, What is the sum of the digits of the smallest

such nurnber? | THAT OHAT § T &7 F5d [ 8 T 2iw! ® 06 24 81 UHT AgdH HEaT @ ! 1 JThd 347 7
Options:
1.v 11

2. % 10
2. %9
4 ® 3

Question Number : 32 Question Id : 3354726962 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 42% of a given number is 12.6, then the number is; | T7¢ & TE ST 42% 12.6 &, 77T &7 5

Options:
1.9 30

2. % 40
3. % 35
4. % 45
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Question Number : 33 Question Id : 3354726963 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The present age of Aman and Baman are in ratio 2:3, respectively. 5ix years hence, this ratio will become 7:9.

What is Aman’s present age (in earsPIWﬁMﬁﬂﬂ“ﬂﬁWﬂﬂWWES%ﬁaﬁﬁfwa@
SUTT 7 - 9§ mﬁﬁﬁm%aﬁmmﬁm—rﬁ%’?

Options:
1.¥8
2. % 12
2% 18

4. % None of the above | Jud® # & #1E T51

Question Number : 34 Question Id : 3354726964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

4 landlord wants to build a fence for a right-angled triangular shaped field whose two shorter sides are given
as Smand 12 m. How long should the fence be? | U WerTd Aol TeF THF T T ST & & & o0 U a1 &7
FmToT ST argaT & e g @ g S HiEe S 12 HieT of TS 8 mﬁﬂ:ﬁaﬁﬁsﬁ:ﬁaﬁw

Options:
1.4 30m | 30 e

> ® 2Rm |28 AT
3. % 26m | 26 Hiew
4 ® 24m | 24 HiEw

Question Number : 35 Question Id : 3354726965 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

25:12=73

|.."|

Options:
1.9 15

2. % 1125
3 %5
4 ® 25

Question Number : 36 Question Id : 3354726966 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

[fthe exterior angle of a regular polvgon of n sides is 11—1 of the interior angle, thenmis . /4T¢

n $JST37 dTT Ush A gEel HT FTQRIT, 3ic: m‘rma:rll—la‘:a’rn_%l

Options:
1. % 11

2 % 12
3 % o2
4. ¥ 24
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Question Number : 37 Question Id : 3354726967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Whatis the value of 5x2+x ,if x = 87 /TTE x =8, 0T Sx2+x &I A T b7

Options:
1.9 328

2. % 320
2% 200
4 % 104

Question Number : 38 Question Id : 3354726968 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is the coefficient of xin the Expmﬁﬁmn:‘lx: —3x+2?/9¢ 4x?-3x+2 #H x* & E‘_IUTI?E
T 7?

Options:
1.9 4
2. % 3
3% 2
4 % ]

Question Number : 39 Question Id : 3354726969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
At present, the respective ratio betweeen the ages of Seetha and Kamala is 4:3. After & Vedrs, ISEEthEl’S age will

be 26 years. What is the age of Kamala at present? | adq= §, HGT o FHAT & 31 & <" &7 Haield egua 4.3 81 6
oY RN, EIGT T S 26 a9 g Td A H AT S ST e g7

Options:

1. ® 21 vears
2. % 20 years
3. ¥ 15 vears
4. % 32 vears

=1 =
20 o
15 =

/
/
/
| 32

Question Number : 40 Question Id : 3354726970 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& bag contains balls of same sizes: 2 are red, 3 are blue, 10 are white, 4 are green and = are black. Ealls are
taken from the bag without looking and not returned. What is the smallest number of balls that should be

taken from the bag to be sure that two balls of the same colour have been taken? | T S # TH &7 &1 12 5
2 /e g, 3 A & 10 Thg 7, 4 50 8T 3 et 1 vl w1 e § 3 Tom e wma7 § o ster 9t <ran oet et & ey
HET T 7 A1 Tk g Gl e o o7 et & TeTeit ST =gy T Uer g1 0 1 &1 g @i el T g7

Options:
1. % 10
2. % g
3. ¥ 6
4 % g
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General Hindi

Section Id : 335472210

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472210
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354726971 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT S FG T T T el A=l 5 -

Options:

1. % w-gecg
2. o g-a7i
3. ® T-Ted

4 ® -t

Question Number : 42 Question Id : 3354726972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T & et ST FATet (ATeAed) F00 H 51 &7
Options:

1. %2

2 VT

3 % T

4 % q

Question Number : 43 Question Id : 3354726973 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
S EEE -
Options:

1. %3

2 V1

3. % 37

4 % 7
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Question Number : 44 Question Id : 3354726974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
g TeT E -
Options:

1. % gt

2 % gg

3. ¥ 95g
4 ¥ Fur

Question Number : 45 Question Id : 3354726975 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T CEEACE

Options:
1. v =
2 % g
3 8 d
4. ® W

Question Number : 46 Question Id : 3354726976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“TET T JATIeE W | # S AT ey

Options:

1. % 9oy
2. ¥ I
3. ® fater
4 % g

Question Number : 47 Question Id : 3354726977 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ST R A AT HF & THE U Jeg WH H E FT AT E?

Options:

1. s
2 % g

3. % g

4 ® T

Question Number : 48 Question Id : 3354726978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘GERT W A Ty M H g Er g
Options:
1. % gE+a
2. ¥ i+
3. % g+amT
4. % gu+aAT
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Question Number : 49 Question Id : 3354726979 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T+ A aeg M A e Em ey

Options:

1. g0

. % R
3. % 97
4. ® g

Question Number : 50 Question Id : 3354726980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T IUET AT g Mg HH BT 57

Options:
1. % giorg
2. ¥ W
z % T
4. % g

Question Number : 51 Question Id : 3354726981 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘AT g §, T H | i A7 g 87

Options:

1. ¥ Jocqey 9Hg
2 % e

3. ¥ FHawg A

4. ¥ gy gu

Question Number : 52 Question Id : 3354726982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T T g 0 9 H & # |87
Options:

1. ® miH

2. %

3 ¥ G

4. ® mHF

Question Number : 53 Question Id : 3354726983 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TeorTs # Gg TU g H TR ATE?

Options:

1. ® Tiwra
o T
2 ¥ oz
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4. ® Imz

Question Number : 54 Question Id : 3354726984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“YTE T W T 9 590 § FT a7 87
Options:

1. % g

2 % g

3% EE
4 ¥ g

Question Number : 55 Question Id : 3354726985 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

$a“1:rﬁan:qjaﬁa: ¢ ARTA i 0 g
AT AT 51 @1 dwe] -7

Options:

1. % aruTe aF®r
2 % ifdA seaw
3. o HIF SAG
4. ® IJUF AR

Question Number : 56 Question Id : 3354726986 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
it deg o T Al TOAT deg g e S & Ol e
“TTITT T T= e oTe &I HRELE

Options:
1. * g

= ¥ giee
= ® i
4. ® Faew

Question Number : 57 Question Id : 3354726987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

G A & g 59 UF Seg H &4 FR -
Options:

1. ¥ FrmgEr

2 % TramE

= ® arfaviig

4 ¥ amang

Question Number : 58 Question Id : 3354726988 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“FATE e H IO -
Options:
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1.¥v9q
=z %o
3%
4 %9

Question Number : 59 Question Id : 3354726989 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

' 31 T aTEl A0 Ao 99 ' - I% oy 91 WU | # 4 a7
Options:

1. ® ggTerT

2. o Al

3. ® TR AT

4 % uuf g

Question Number : 60 Question Id : 3354726990 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Sl g ﬂﬂﬂ'ﬂm—ialﬁamﬁm
Options:
L. ' g & amg R (femp
> ® éﬁﬁﬁmﬂﬁ
3 % G R AT
4. ® FEaln
Fural Econorry and Panchavati Eaj
Section Id : 335472211
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472211
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354726991 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following revenues is NOT shared by the State Government with Panchayats in Madhya Pradesh?
/ mu&mﬁﬁnﬁﬁﬁﬁﬁﬁﬁmwmmwmwﬁwmﬁﬁmw%

Options:
1. ® Land revenue | ¥ - T4

24th Dec 17 Shift 1



24th Dec 17 Shift 1

2. % Cess on land revenue [ 9 - TG O I
3. % additional starmp duty | Sid ET 900 S
4, & Corporate tax | fmiig &%

Question Number : 62 Question Id : 3354726992 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Who is the Chairman of the Sth State Finance Comrmission of Madhya Pradesh? | Aed ugd & 5 o ¥4 o9 =i
W ATy FA 57

Options:

1. % Himmat Kothari | 57T #1amr

2. % Milind Waikar | &z amgat

% % Shivraj Singh Chauhan | T &g @E=
4. % Malay Rai | 99 T

Question Number : 63 Question Id : 3354726993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the function of Kisan Call Centres established in Madhvya Pradesh? | W ndar # wmitg &0 m0 &0 #1a
et T T T ST 57

Options:

1. ¢ Furnish information to farmers | BramT @ GoT Wg &1

2. % 5ell the produces of farmers | TFaMT & Foaia! &7 e F T

3. % Supply necessary materials for farming | Sdt & TR0 St SRUT 6 ST weAT

4 % Enquire well being of each farmer over phone | B O Tcdie R &1 Sl a4 9 J9dT @eT

Question Number : 64 Question Id : 3354726994 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
About E2-65% of the total cropped area 15 under

Options:

1. % (il seeds | g
2. % Horticultural crops | @mam-T B

% % Cash crops | ATET BEH
4. ¥ Foodgrains | Ee=mg

Question Number : 65 Question Id : 3354726995 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

where 15 Sanjay Gandhi Youth Leadership & Rural Developrent Training Institute, located at? | Wﬁ%ﬁqﬂ
FAISTIT U2 T SaRuHe & 14T 56 g (Fr Teft Ja Aqea s o T afde e wg1 e 87

Options:

1. ¥ Pitharnpur | WA
2 ® Meernuch | SH=

= % Dativa | =fdar
4. % Pachmarhi | T=HET

Question Number : 66 Question Id : 3354726996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
What is the objective of Bharat Nirman? | 9a THATT &7 a7 3547 57

Options:
1. # Giving a boost to industrial production | aEiTe Ieuea § a5 il @

2. ¢ Creating basic rural infrastructure | Jed WHIT S-H T 2T H]

% % Thrust on providing education to all | T T80T 0gT #0247
4. ® Improving trade | AR F S5147 44T

Question Number : 67 Question Id : 3354726997 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhat is ‘Jansunwai’ envisaged as part of social audit of MGNREGS? | HT & @A oG8 & 90T & &4 §
‘ T 27

Options:

1. % Hearing in rural court | TTHIT =I=TT § G401

2. % Auditing by going door to door | TR-TF AT TS FAT

2. ¢ Public hearing at Panchayat level | U=ad Fa¢ 0¥ 54 G141

4. % auditing the expenses for publicity | T & S §T GET-T4 140

Question Number : 68 Question Id : 3354726998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
______ was the first State in India to decide to transfer the cwnership of Non Wood Forest Produce to the Gram

Sabhas after the 73rd Amendrment to the Constitution. [ ______ 9T &1 Wgell T4 a7 T Fuier feam for 3¢ st o
IoATE T TTHed Ticer & 73 of Faed & aTe, TTH THT3T &1 gega g T =
Options:

1. % Assam | 89

2. ¥ Madhva Pradesh | TeT 0ea
3. ® Gujarat | T

4. % Kerala | 9%

Question Number : 69 Question Id : 3354726999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which was the first state to launch Panchayati Raj after the recomrmendations of the Balwantrai Mehta
COrurittes? | TAaar Hgdl BHeT Sl ETea S o ol UeTrd | T e lT] F- ol Tgell T & - 417

Options:

1. ¥ Madhya Pradesh | e[ 0T
2. % Gujarat [ TeRIT

2. ® Kerala | owd

4 % Rajasthan | TRETH

Question Number : 70 Question Id : 3354727000 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The first official atternpt to calculate National Income of India in 1949 was made by MNational [ncome
Comrnittee that was headed by__________ | 1949 # 9N & TP T ST 0T Fe BT UgaT ST DI 18 4 3T
afffd awT _____ & ~iged | T mam am

Options:
1. % Dadabhai Naoroji | SEMEE STl
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2. ¥ PC Mahalanobis | W8 Ag@ITE
. % VRV Rao | & s dt g
4 % sSardar Vallabhbhai Fatel | TR Teeed e Tia

Question Number : 71 Question Id : 3354727001 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Holding of elections for the Panchavats is decided by the
TeFT THIT 81

Options:
1. ¥ Constitutional mandate | Gorem- T84T

2 % Central Election Corrrmission | @l g[HTa ST
2. ¥ State Government | ¥=T GUER

4. % District Magistrate | Far Ao

Question Number : 72 Question Id : 3354727002 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The objective of the Pradhan Mantri Gram Sadak scheme is construction of ______ .| TR WAT U @S AT T
TR ______ T Temfr
Options:

1. % Rural Area Roads | Wi &= AT

2. % City Area Roads | SEer & AT

= # Semi-urban Roads | arf—me qmt
4 % all of the above | J0d® a4

Question Number : 73 Question Id : 3354727003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which armong the following is classified as a Major Forest Produce in Madhya Pradesh? | FaiaEs § & &g 7eg
e H U W A FeuTg o €0 H ol igd TR 1T 27

Options:

1. ¥ Resin | TFT

2. % Skins | @14

2. % Tendu leaves | dg & 0
4. ¢ Timber | da%

Question Number : 74 Question Id : 3354727004 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Mamatva Melas are organized by Madh%;TPradesh Wiornen Finarnce & Developrnent Corporation for selling: |

e W ar AfgaT 9w U e A vy ‘Area TogiaeT & Tt & Toro s Tora =T

Options:

1. ¢ Products of wormen in self help groups & rural wornen | Fa< SgraT a1 d7 [T Agart § Afgarst & 3o
2. % Products of rural artisans | TTHT ferert & o0

% % agricultural produces | #Y Ie078

4. % Industrial products | sfEITE I

Question Number : 75 Question Id : 3354727005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

which is the central department that provides information on weather to farmers? | = @1 w4 e et &t
HHH Herell o1 Ag @l a7

Options:

1. # Department of Agriculture | i T

2 ® NABAD | 92

Z. % Indian Council of Agricultural Fesearch | 9T = i aifel TS
4. ¢ India Meteorological Department | W =1 AEH 2T

Question Number : 76 Question Id : 3354727006 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Whe is the target group of the programme ‘Roshni’ under Deen Dayal Upadhyaya Gramin Kaushalya Yojana® ?
j‘éﬁ:rmmma—a%wc —WEDT ST AT 3 FAqTd T TEFT & o AT g T4 87

Options:

1. % Wwomen living in forest areas | a7 431 # w5 ArAT ATSATT

2 Youths of left wing extrermism affected areas | a0 Uit IUETg, & waTidT &= & gar

3. % people living in rural areas of north-east India | R 3 qdida? § T @Tel T 7T
4 % Youths of Kashrir | F9HT & Ja%

Question Number : 77 Question Id : 3354727007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The first meeting of the Panchavat is to be conwvened within ______ days from the date of declaration of the

election results. | Z[ATa TROTTHT ST TSE0OT ST TeE & ______ Tt o 1T =TI T UE ! aa® s ATl gl
Options:
1. % 7
Z % 15
3% 20
4. 9 30

Question Number : 78 Question Id : 3354727008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is NOT a Special Category State under Central Government schemes? | e T
Wﬁ&?wﬁrﬁqﬁfgaﬁﬁﬁmm T Terdi =11 51 WA &7

Options:

1. ® Tripura | Bga

2 ¥ Madhya Pradesh | e g9

% % Meghalaya | HOT&T

4 # arynachal Pradesh | S0 TS4T

Question Number : 79 Question Id : 3354727009 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

At what ratio the balance of actuarial prermiurm under Pradhan Mantri Fasal Bimma Yojana is shared between
Central & State Governments? | T SHUTT H Wt WAl GEe slHT AT & STaTid sifiidred T &1 Sqe 72 31 T
T o offer |1 o =T 27

Options:

1. % 80:20
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2. % 60:40
3. ¥ 5050
4. % 30:70

Question Number : 80 Question Id : 3354727010 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The National Development Council (NDC) was founded in ____. | T TomTd Tivag (UH2 160 1 = ____ # 3E o

Options:

1. % 1947

= ® 1963

3. ¥ 1952

4. % 1954

Cormputer Knowledge

Section Id : 335472212
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 335472212
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354727011 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

BIOS is the short form of: | sfemgsius sawT Siaqd &7 &
Options:

1. # Best Input Output Device [ =fT 70T ST fZamET
2. % Better Input Cutput Device | =e¥ 50T AT 1EdEq
3. ¥ EBasic Input Output Systern | @ gAqT s=eqe #eEd

4 % Basic Input Qutcorme Systerm | oW 5 ATdew ey

Question Number : 82 Question Id : 3354727012 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

To select Trarige 11 M5 EXCEL we have to use
FAT EITT

Options:
1. % 41-B1
Z ® A1=FE1
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2. ¥ 41E1
4 # A14E1

Question Number : 83 Question Id : 3354727013 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following staternent is CORRECT about a Cormputer virus? | U% FHET a127d & a1 § FaeEs § &
T AT T TR 57
Options:

1. ® It remnoves worms from the systern | I WEH & GT0d &1 gorT gl

2 ® It securely conducts financial transaction over the internet | Tg Seee U fodqd [ w-cT ®1 GUiad &0 | Gaiiag
AT &

3 ® It sto%:s senisitive data like passwords in a secure file | Ig Uk GRIET BIE5a H HelgAde ST A4 T UTHee @1

4 ¥ [t makes local systern and files unusable | T Aiwd HEeH X BIEAH ®1 SO =T 2

Question Number : 84 Question Id : 3354727014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
RAM is the abbreviation for: | ¥ (e o= &7 afgyT &7 2

Options:

1. ® Register Address Memory | THEeT 028 HART
2 ¢ Randorm Access Memory | 128 Ugad HuiT
% % Read Address Memory | T1E U2d HANT

4. % Read All Memory | TIE 3T HANT

Question Number : 85 Question Id : 3354727015 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is cornmornly used to perform many different types of calculations? | TERm v
S TS e 3 Tol ST &0 & o fean S T T 27

Options:

1. ¢ Spreadsheets | FUSHT

2 % slides | HABE

3. % word docurnent | 92 ZTgHT

4 % None of the above | IWigd § & F1E 51

Question Number : 86 Question Id : 3354727016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following tab stop positions are not available in MS Word 20077 | TAUH a2 2007 H, FuHaEs # &
I AT Sal TE I IR S0cAee 51 57

Options:
1. % Left Tab | e &

2. % Right Tab | 2T 2
3. ® Center Tab | Hex dd
4. % Bottom Tab | &12d od

Question Number : 87 Question Id : 3354727017 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

A modem is connected toa______ HER ST pATE AT 8l
Options:

1. % telephone line | FEE AR

2. % keyboard | a2

% % printer | ifew

4 #® monitor | @7

Question Number : 88 Question Id : 3354727018 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Deleted file goesto _______ | TETT W g W _____ # UgT ST )

Options:

1. ® Docurment | ZTHgHT

2. % My Cormputer | T T
2. ¥ Recycle Bin | framsfra T
4, % 'I’-Drive | ‘'EF ZEA

Question Number : 89 Question Id : 3354727019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following Fage Crientation is used in MS Word while printing? | TAH @2 # Ui & g, Faad &
o U AT e ar @ TeRT AT &7

Options:

1. ® Regular | AT

2 % Standard | 922

3. ¥ Landscape | seq@d
4 % Plain | ToiA

Question Number : 90 Question Id : 3354727020 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
How can ?%% make the selected character superscripted in MS Word? | TAUE 92 #, 310 Heife [T BT FEfres A1

Options?

1% Ctrl + =

2. ¥ Ctrl + Shift + =

3. % Alt + Ctrl + Shift + =

4 % MNone of the above | IWigd # & F1E T51

Question Number : 91 Question Id : 3354727021 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In M5 Excel, you can use the horizontal and vertical scroll bars to: | TATH THe H, &0 4 @1 et o oy dfdsr
AT TR T a HT JUT B Tl &

Options:

1. ¥ View different rows and colurnns | Tefe= disat 2 gat w1 ga # 5w

2. % split a worksheet into two panes | UF gwdie &1 g1 07d H T @ & T
3. % Edit the contents of a cell | T&F A & oo H1 AUNGT e o o]
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4. % View different worksheets | TERAT g 3 & oy

Question Number : 92 Question Id : 3354727022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TPE ElppliCEltiDI‘l tool such as Word, Excel, PowerPoint, Access are all developed by | Q'{E‘ ﬁmﬁaﬁaﬁ Q@@F’I,
e es e, Uepee Tt o & grr Heiee o mr g

Optic:ns:
1. % Apple | UqUE

2. ¥ Microsoft | AE®EIT
= % Android [ USTOE

4 % Linux | feaa

Question Number : 93 Question Id : 3354727023 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Personal logs or journal entries posted on the web are known as __________ | o W Oee T S AT g
AN &R TR U B ___ S STTH & ST AT 3
Options:

1. % EBlogs | F&m

2. % Photos | ®ier

3. % Smartlogs | GAEANT

4 % all of the above | T T4

Question Number : 94 Question Id : 3354727024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

GIF is an extension for _________ file. | GIF _____ HIEA o Tell] [ s 51T al
Options:

1. ¥ image | TH

2 % yord | 32

2. % video | =fiEar

4 # gudio | TEAT

Question Number : 95 Question Id : 3354727025 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The process of copying data from a memory location is knowrl as: | TF BAERT # 1w & ST R F0- & wwar g

TR &

Options:
1. % Reading | Of2m

2. % Controlling | #iiHT
Z. % Hand shaking | 3 T

4, % Writing | TERET

Question Number : 96 Question Id : 3354727026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& shortcut key ‘Ctrl + V' is used to
IO AT AERIEICIE]

in M5 Word docurnent. | THTH 92 STHgHC |, ITdewe @1 Crrl + V3
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Options:

1. ¥ Paste | AT

2. % Copy | @l

Z. % Underline | 3StaAEA
4. ® Italicize | gefetarsd

Question Number : 97 Question Id : 3354727027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is used to browse Internet? | Sei-e a3 @ & oy - o & T SuamnT & T 27
Options:

1. ® Skype | q@ET

2 % Facebook | BHF

Z. % Whatsapp | TgTgadd

4 % Firefox | GIOCHIRT

iy

Question Number : 98 Question Id : 3354727028 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Any message to transfer is divided into small chunks of data known as: | SEE T AT TT67 B Hf @39 ST
Fle-gie wmt § FeraTiaa gt T Fgam 2

Options:
1. ® Router | 132t

2 % Host | 7T

3. ® Hypermedia | gTEUeATEAT
4 ¥ Packets | T

Question Number : 99 Question Id : 3354727029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is NOT a hardware? | WHAET § & F27 U@ 518aa% Tl 57

Options:

1. ® Scanner | 937

2. o Interpreter | SEO0ET
2. ® Printer | Tee

4 # Mouse | ATIT

Question Number : 100 Question Id : 3354727030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A strong password consists of: | TRF TS 56 HA® a7 51dT &

Options:

1. ¥ alphabets only | @dd IRl &

2 % alphabets and nurmbers | auigl T w2t &

3. % alphabets, nurnbers and special characters | GUigR, SEarett 727 f&idys el &

4+ alphabets in upper and lower cases, nurmbers and special characters | @I Ud Are & | auigR, Jgamet
T Telfdme el &
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